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1. &= d srar wifs@

Is it possible to have two entirely different kinds of economy in a country-one based on the big machine
and industrialization, and the other mainly on cottage industries? This is hardly conceivable, for one must
overcome the other, and there can be little doubt that the big machine will triumph unless it is forcibly
prevented from doing so. Thus it is not a mere question of adjustment of the two forms of production and
economy. One must be dominating and paramount, with the other as complementary to it, fitting in where
it can. The economy based on the latest technical achievements of the day must necessarily be the dominating
one. If technology demands the big machine, as it does today in a large measure. then the big machine
with all its implications and consequences must be accepted:
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